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Homework
Page 219 (8-13)

Today's Objective:

Use with Lesson

4-1

1. Sketch and analyze the graph of f(x) = —2* + 3.
Describe its domain, range, intercepts,
asymptotes, end behavior, and where the
function is increasing or decreasing.

2. Consider the table shown at the right.  [EREEA
2

0

a. Make a scatter plot. (on the calculator] W
b. Find an exponential function to g ?;;
model the data. \|=7 0S3(3. ‘gq) s 237

¢. Find the value of the model at x = 20. 2.7
N= 4,239 10" e

Standardized Test Practice sl
\0‘53 HB 33

3. Solve log,(5x) — log;(x + 3) = log,4.
A -3 Bl C 3 @12 e o

ANSWERS $H=EYR P
. D= (-0, )i R=(-x,3); x=12
BT R intercept: (0, 2); '

asymptote: y = 3; lim f(x)=3;
Ko e

-

x
Sioe iy lim H(x) = —oc; decreasing on

(—-w, w)

Ea, f S e

000 | X

. . 2b. y = 2.05(3.28)
o . 2c. 4.26 x 10"
HHG d -
£ gwﬁ}wq—rf‘ 3' D

Chagstar 4 Glencor Precalulis

Answers: 8.y =1, 9.x = =5, 10. x = —4,x = 2,
11. x = 3,x =5,y = 0 12. & 13. no asymptotes,
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- Solve oblique triangles using the Law of Sines or the Law of

Cosines.

‘eyGoncept Law of Sines

If AABC has side lengths a, b, and ¢ representing the lengths of the B
sides opposite the angles with measures
4,8,a0d C,tnen 14 _ S B _ sin y S
o ' a b g
A b C
Example 1: s M
Sl
Solve ALMN.
QU] gin 112
7S M F\

; g = m 4qz A\ N :
W Sin Zcf 2 flsn L 180 - 12-29 ;<3q]
sl Sineg SN2y  sin 39 ‘

Q- 7z o
= n S 29=22s51n ’j)’_q
Sw729 Stz 29
Q/J =2%.06

Answer: N=39" m=421 n=286

Example 2:

The angle of elevation from the top
of a building to a hot air balloon is
622. The angle of elevation to the
hot air balloon from the top of a
second building that is 650 feet due
east is 499, Find the distance from

the hot air balloon to each building.

Unit 4 Page 3

Can you draw a figure showing
the situation?



| nif Cgm‘a;}i The Amhuguous Case (SSA)

|. Find h

s g, s Lt
Y] |
ygin o9- T
Cownd dneq
\: el4 7
v 650 1t X8 S g - S__‘”_:'Lcl
SO v
‘;(Sm(”? (a)?)SM 44
S""’l @9 )rh ©q
x*2J525.§
Answer:  about 525.5 ft; 614.7 ft M\

L/Qifh 3

SCIR———————

di orgs (non -

Consider a riangle in which a, b, and A are given. For the acute case, sin A== m b= bsin A
\a N\ LB i
b "i’} ’rﬁ b b b 2 : P 2] : i a
is Acute L o N\ . ~* :
- -~ L . g
A< A A A AN e o
a< banda<h a<banda=h a<hada>h amb
no solution one solution two solutions oae selution
a 3
)
o B a
Ais Right (;\ B 5 B
Obtuse. 7 e S /
=
A= A A 7

a= b, no solution

Example 3: Find all solutions for the given
triangle, if possible. A=63°,a=18,b=25

a<h
P
o bj'ls‘h
2T w3
13- 3= O\L\q

No satubon
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a > b, one solution

A
. dJoes hat molea 4r’1wgb—



triangle, if possible. A=63°,0=18,b =25

Because a < h, no triangle can be formed with sides a = 18, b = 25, and
A =63°. Therefore, the problem has no solution.

Example 4:

Find all solutions for the given triangle,
if possible. A=105°, a=73,b =55
avh  are solubor b

o

<\/ W loS - sin R

T3 S 2.
- <~/Q1?M@ 10543
Sin K= 33 S r0f Ity
= ~ = L
§n B =0 ¥ty 3.5 _10Y . s» T§
Sin 0. rerEs) = 13 T3 c
B g7 CSin oy = #3 5in 2
Jinlay Snies

Answer: B=47°, (=28, c=355 _ g
g5 S5 N

Example 5: Find two triangles for
which A = 45°, a = 18, and b= 24.

QQb | Firel N
n
0T N Sin 45 74
A5 o 154y =h
A lo.97F=h

a7 h 2 Sow\ﬁuﬂg
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64°
#
18 %‘mﬂ Ihoere
& .l eb
S Uy - sn ©
1B 5
19 st s 3 = Z‘me Y1
IIJ' rf
onB=0.992%
eSS4l = ’Q&éﬁf’f—z_{? (' =§\
e T Co=ifo -us-3 = G4s
= 1. L)
——f/ I 45 | sin by
|8 &
ey = 18 sin G
),y,uu_’ __m\.):h'ﬂ‘

5 *m {}mmem Law of Cosines | |

In AABC, if sides with lengths a, b, and ¢ are opposite angles with B
measures A, B, and C, respectively, then the following are true.

al=b?+ c?—2bccos A
2. 52 2 _

bmman+c? 2agcosB A C
C = g%+ b° - 2abcos ©

Example 6: LANDSCAPING A triangular area of lawn has a
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sprinkler located at each vertex. If the sides of the lawn are a
=19 feet, b = 24.3 feet, and ¢ = 21.8 feet, what angle of sweep

should each sprinkler be set to cover? ab=hipe® - Zbc,CC)S A
b ™ a%re*- 2ac cos B 0 0% 74.3%21 §7 zﬂ(u.;%zq 3 )/(05 A
2 p2 ) G20 : 1065, 73 - MLY! = gl |
2987 1 2 pr-2(19% 21 #) o5 B (2 ?5\ geid  Peltien e (USPEE\E_S;—CQSJ&& /
$90 49 §36.29-828.49 cus \\\ ~704. 23 =~V K519 e
HY. 75 ==F28 Y1es B 4_‘_*'&““__7_ ~ 0 o.estb : gs
A b=242 T .

0. 296tSbE (¢S B (48 ° A
@3- J%-H&%S@
" Answer: A =48°, B = 73°, C = 59°.

Example 7: Solve AABC.

B
0% =b%c*~Thc us A
ol = JTHM 2 (104 05 B4 c 14 ]
a -
A 346~ 3ocos (394)
A * 30,3615 39.4°
E | | A = c
0= 9 g (39%) Sin C n | S
3 [i—f \“m ) IS|H R ;‘ Sp S
qsin c'—fﬂ%lth(ﬂfﬂ “l §2- o Q‘P
“ f QSn B= 115037 Y |
Sing = 0.983 T T _EBines
Cer my Sin 0 <031es
Answer: azQ.O,Bzgé“,'Cz 83° (6 =) SH:}“_S_V

Assignment: Page 298 (1-5,11-17,19-23,27-33 odds only)
* Check your answers before class tomorrow.
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